
1)

Answer: ____________

2) Find the median of the following set of data:

3, 36, 35, 16, 34, 5, 21, 13, 27, 8

Answer: ____________

3) Find the median of the following set of data:

3, 36, 35, 16, 34, 5, 21, 13, 27, 8

Answer: ____________

4)
Find the next three numbers in 
the sequence
12,15,30,33,66,69,138__,__,__

Answer: ____________

5)
26  Find Volume of 
               26       Cylinder 

Answer: ____________

6) A number was shared in the ratio 
40:50. The larger share was 5. What 
was the smaller amount?

Answer: ____________

7) A number was shared in the ratio 
40:50. The larger share was 5. What 
was the smaller amount?

Answer: ____________

8) 9 + 7 - 9 x 12

Answer: ____________

9) (-11) x 20

Answer: ____________

10) Find the mean of the following set of data:

13, 39, 36, 0.7, 0.4

Answer: ____________

11) (6 x 29) + (6 x 1-1)

Answer: ____________

12) 2 x 6 + (4 x 6)

Answer: ____________

13) 967.86 ÷ 28.3

Answer: ____________

14) Convert the following improper 
fraction 38/18 + 1610/11 into a mixed 
number

Answer: ____________

15) Convert the following mixed number 
153/2 into an improper fraction.

Answer: ____________
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16) 26/16 ÷ 41/8

Answer: ____________

17) 957.78 ÷ 30.6

Answer: ____________

18) Decrease 38 by 79%

Answer: ____________

19)

'Name the type of angle.

Answer: ____________

20)

'Name the type of angle.

Answer: ____________

21) A number was shared in the ratio 
18:3. The smaller share was 60. 
What was the total amount shared?

Answer: ____________

22) 315 * 38

3-14

Answer: ____________

23) 22000 ÷ 1000

Answer: ____________

24) 7/17 + 18/12

Answer: ____________

25) Round 14.7780926 to 3 decimal 
places.

Answer: ____________

26) (-482) + 973

Answer: ____________

27) Find the mean of the following set of data:

0.2, 0.8, 39, 0.9, 16

Answer: ____________

28) Find the median of the following set of data:

32, 36, 40, 27, 36, 40, 20, 12, 11, 
33, 26, 33, 33, 23, 13, 5, 8

Answer: ____________

29) Simplify 9:11

Answer: ____________

30)

'Name the type of angle.

Answer: ____________
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31) 118 / 110

Answer: ____________

32) Convert the following improper 
fraction 46/7 + 1011/12 into a mixed 
number

Answer: ____________

33) 743 - 549

Answer: ____________

34) (-377) + 896

Answer: ____________

35) Solve 1f2 - 20f + 4 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

36)
Find the next three numbers in 
the sequence
16,15,60,59,236,235,940__,__,__

Answer: ____________

37) (-322) + (-718)

Answer: ____________

38) A number was shared in the ratio 
32:11. The larger share was 32. 
What was the smaller amount?

Answer: ____________

39) 182 + 4 + 9

Answer: ____________

40)
Find the next three numbers in 
the sequence
125,120,600,595,2975,2970,14850__,__,__

Answer: ____________

41) Find the percentage change from 45 
to 42.3

Answer: ____________

42) 31 x (-6)

Answer: ____________

43) 205/16 ÷ 31/2

Answer: ____________

44) A number is chosen at random from 
1 to 50. Find the probability of 
selecting factors of 15 and 15.

Answer: ____________

45) Find the mean of the following set of data:

0.4, 20, 0.3, 0.4

Answer: ____________
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46)
49

1 /2

Answer: ____________

47) Solve 3j2 - 3j - 9 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

48) Solve 3j2 - 3j - 9 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

49) Find the median of the following set of data:

37, 28, 7, 15, 22, 12, 4, 13, 34, 25, 
17, 15, 9, 12, 37, 4, 10, 21

Answer: ____________

50) 766 - 249

Answer: ____________

51) Convert the following improper 
fraction 72/9 + 109/15 into a mixed 
number

Answer: ____________

52)
64

6 /12

Answer: ____________

53) A number was shared in the ratio 
24:32. The larger share was 28. 
What was the smaller amount?

Answer: ____________

54) Decrease 79 by 25%

Answer: ____________

55) 376.74 ÷ 12.6

Answer: ____________

56) 588.6 - 676.8

Answer: ____________

57) Convert the following improper 
fraction 39/14 + 72/17 into a mixed 
number

Answer: ____________

58)
64

3 /9

Answer: ____________

59) Round 0.9819266 to the nearest 
whole number.

Answer: ____________

60) 185/8 ÷ 101/2

Answer: ____________
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61) 940.5 ÷ 33

Answer: ____________

62) Convert the following mixed number 
53/4 into an improper fraction.

Answer: ____________

63) Find the percentage change from 40 
to 44

Answer: ____________

64) Find the median of the following set of data:

3, 31, 24, 9, 38, 28, 30, 28, 16, 25, 
17, 9

Answer: ____________

65) 1/1 + 13/11

Answer: ____________

66) 921 + (-977)

Answer: ____________

67) Increase 20 by 3/10

Answer: ____________

68) Find the value of 'f' by completing 
the square of the following equation: 
2 + 10f + 16

Answer: ____________

69) 10 x 16 ÷ 9 + 11

Answer: ____________

70)
26  Find Volume of 
         28               Triangular Pyramid 

25 28
22

Answer: ____________

71) 62 - 3 - 9

Answer: ____________

72) 194.6 - 124.7

Answer: ____________

73) Find the value of 's' by completing 
the square of the following equation: 
2 + 8s + 16

Answer: ____________

74) Find area of 
triangle s = 307 in

Answer: ____________

75) Decrease 56 by 51%

Answer: ____________
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76) Decrease 56 by 51%

Answer: ____________

77) 976.35 ÷ 34.5

Answer: ____________

78) (-713) + (-327)

Answer: ____________

79) Round 24.82 to 1 decimal places.

Answer: ____________

80)
100

2 /4

Answer: ____________

81)
100

2 /4

Answer: ____________

82) 170 ÷ 10

Answer: ____________

83) Convert the following mixed number 
146/8 into an improper fraction.

Answer: ____________

84) Convert the following mixed number 
1219/15 into an improper fraction.

Answer: ____________

85) Decrease 15 by 43%

Answer: ____________

86) (-203) ÷ 29

Answer: ____________

87) 431.43 ÷ 19.7

Answer: ____________

88) 701 - 301

Answer: ____________

89) (36)20

Answer: ____________

90) Find area of square 
having each side (s)
equals 227 ft

Answer: ____________
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91) Round 9.29350 to 2 decimal places.

Answer: ____________

92) 429 + 611

Answer: ____________

93) 247 ÷ (-19)

Answer: ____________

94) (8 x 12) + 13 + 5

Answer: ____________

95) Decrease 74 by 1/37

Answer: ____________

96) 3   5/19 - 11   2/3

Answer: ____________

97) 915 - 519

Answer: ____________

98) 106 + (-172)

Answer: ____________

99) Round 0.401 to 2 decimal places.

Answer: ____________

100) Round 0.401 to 2 decimal places.

Answer: ____________

Total: ___ / 100
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Answers:

1) 2) 19.5 3) 19.5 4) 141,282,285, 5) 55216.632479494 6) 4 7) 4

8) 9) 10) 17.82 11) 3078 12) 13) 34.2 14) 2035/99

15) 33/2 16) 19/33 17) 31.3 18) 7.98 19) Obtuse 20) Obtuse 21) 420

22) 337 23) 22 24) 131/34 25) 14.778 26) 491 27) 11.38 28) 11

29) 9 : 11 30) Obtuse 31) 18 32) 1565/84 33) 194 34) 519 35) f = 19.8 or 0.2

36) 939,3756,3755, 37) -1040 38) 11 39) 337 40) 14845,74225,74220, 41) -6% 42)

43) 545/56 44) 0/1 45) 5.28 46) 7 47) j = 2.3 or -1.3
48) j = 2.3 or -
1.3

49) 29.5

50) 517 51) 1737/45 52) 8 53) 21 54) 59.25 55) 29.9 56) -88.2

57) 10181/238 58) 4 59) 1 60) 165/84 61) 28.5 62) 23/4 63) 10%

64) 29 65) 22/11 66) -56 67) 26 68) (f + 5)2 - 9 69) 70) 2383.3333333333

71) 24 72) 69.9 73) (s + 4)2 74) 40811.01414064in 75) 27.44 76) 27.44 77) 28.3

78) -1040 79) 24.8 80) 10 81) 10 82) 17 83) 59/4 84) 199/15

85) 8.55 86) -7 87) 21.9 88) 400 89) 3120 90) 51529ft 91) 9.29

92) 1040 93) -13 94) 95) 72 96) 1623/57 97) 396 98) -66

99) 0.4 100) 0.4
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